
ŝ

$%675$.

,QGDK�0RQLFD � $QDOLVLV (IHNWLYLWDV� 3HQHULPDDQ� 3DMDN� 3DUNLU� GL� .RWD�
3DULDPDQ�7DKXQ�����������

3HPELPELQJ�������� ��+HQGUL�$QGL�0HVWD�6�(�$N��0�0

3HQHOLWLDQ�LQL�GLODNXNDQ�GL�%DGDQ�3HQJHORODDQ�.HXDQJDQ�GDQ�3HQGDSDWDQ�
'DHUDK�.RWD�3DULDPDQ� \DQJ� EHUDODPDW� GL� -DODQ� ,PDP�%RQMRO�1R�� ���3DULDPDQ��
'HVD� &LPSDUXDK�� .HFDPDWDQ� 3DULDPDQ� 7HQJDK� NRWD� 3DULDPDQ�� $GDSXQ� WXMXDQ�
GDUL�SHQHOLWLDQ� LQL�DGDODK�XQWXN�PHQJHWDKXL� WLQJNDW�HIHNWLYLWDV�SHQHULPDDQ�SDMDN�
SDUNLU�GL�.RWD�3DULDPDQ�

%HQWXN� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� SHQHOLWLDQ� GHVNULSWLI�� NDUHQD�
SDGD� SHQHOLWLDQ� LQL� SHQXOLV� PHQGHVNULSVLNDQ� VXDWX� IDNWD�� IHQRPHQD�� JHMDOD� ��
SHULVWLZD�\DQJ�GLGDSDWNDQ�GLODSDQJDQ��7HNQLN�SHQJXPSXODQ�GDWD�\DQJ�GLJXQDNDQ�
\DLWX� ZDZDQFDUD� GDQ� VWXGL� SXVWDND�� 'DQ� WHNQLN� DQDOLVLV� GDWD� \DQJ� GLJXQDNDQ�
DGDODK� GHVNULSWLI� NXDQWLWDWLI�� 'DWD� \DQJ� GLWHOLWL� \DLWX� GDWD WDUJHW� GDQ� UHDOLVDVL
3HQHULPDDQ�3DMDN�3DUNLU�

'DUL� KDVLO� SHQHOLWLDQ� \DQJ� GLODNXNDQ� PHQXQMXNNDQ� EDKZD� SHQHULPDDQ�
SDMDN�SDUNLU�GDODP�WLJD�WDKXQ�WHUDNKLU�WLGDN�PHQFDSDL�WDUJHW�GDQ�EHOXP�HIHNWLI��KDO�
LQL�GLVHEDENDQ�NDUHQD�UHQGDKQ\D�WLQJNDW�NHVDGDUDQ�ZDMLE�SDMDN�GDODP�PHPED\DU�
SDMDN�SDUNLU��GDQ�PDVLK�EDQ\DN�\DQJ�WLGDN�PHODSRUNDQ�VHSHQXKQ\D�NHSDGD�%DGDQ�
3HQJHORODDQ�.HXDQJDQ�GDQ�3HQGDSDWDQ�'DHUDK�.RWD�3DULDPDQ�
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